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LP 112/4
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LP 112/5
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LP 113/2
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LP 117/7iiOne sheet per 5 pupils ✁
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a) 100 b) 200 c) 800

d) 900 e) 1000 f) 2000

g) 6000 h) 9000 i) 819

j) 7368 k) 12 534 l) 88 888

LP 122/6  and  LP 122/8
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LP 123/6

150 n 170  ≤   ≤
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LP 123/7
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LP 124/2
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LP 130/2
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LP 134/3.1

Temperature  (   C)

days0

Day

Temperature

  

°C( )

15th 16th 17th 18th 19th 20th 21st 22nd 23rd 24th 25th 26th 27th 28th

0 – 1 – 4 – 5 – 2 – 3 – 2 + 1 + 2 0 – 1 + 1 + 2 + 2
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LP 135/1

a) 236.8 – 46.3  =

b) 236.8 – (46.3 + 2)  =

c) (236.8 – 5.6) – 46.3  =

d) 236.8 – (46.3 – 3)  =

e) (236.8 + 2) – (46.3 – 1)  =

f) (236.8 – 1) – (46.3 + 1)  =

g) (236.8 + 10) – (46.3 – 10)  =

h) (236.8 – 6) –  (46.3 – 6)  =

i) (236.8 + a) – (46.3 + b)  =

j) (236.8 – 3c) – (46.3 – 5c)  =
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a) 325  × 1.5  =

b) (325 × 3) × 1.5  =

c) 325 × ( 1.5 × 3)  =

d) (325 ÷ 5)  × 1.5  =

e) 325 × ( 1.5 ÷ 3)  =

f) (325 × 0.2 ) × (1.5 × 4)  =

g) (325 ÷ 4) × (1.5 ÷ 3)  =

h) (325 × 11 ) ×  (1.5 ÷ 11)  =

i) (325 ÷ a) × (1.5 ÷ b)  =

j) (325 × a ) ×  (1.5 ÷ b)  =
LP 135/2
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LP 136/4.8

C

B

A



©  CIMT, University of Exeter

m e p
MEP: Primary Project:  Year 6

LP 140/2

8 cm

12 cm

10 cm


